Unit II (Ch. 23, 24, 32, & 33): Measurement of Economic Performance


Format:


35 multiple choice questions and four (4) Free Response Questions [answer only two.]
Aggregate Demand (AD) and Aggregate Supply (AS)


Price Level (PL) v. Real Gross Domestic Product (RGDP)


Factors that shift the AD and AS curves (e.g. expectations)


Know the shapes of the AD, SRAS, and LRAS curves


Short-run and long-run macroeconomic equilibrium


At AD = LRAS, RGDP = PGDP and there is full employment


At AD = SRAS, it is not a given that RGDP is at full employment


Inflationary and recessionary gaps


Supply shocks (e.g. 1973 OPEC oil embargo)

Gross Domestic Product (GDP, or Y)


∙ Definition of GDP and types of GDP (real v. nominal)


∙ GDP = C + G + I + NX (expenditure)


∙ GDP = C + S + T (income)

Inflation and Price Indices

∙ Consumer Price Index (CPI) and its “basket of goods”


∙ Producer Price Index (PPI)


∙ GDP Deflator



° GDP Deflator = (Nominal GDP ÷ Real GDP) * 100


∙ Inflation rate



° Inflation rate = [(CPIyear 2 - CPIyear1) ÷ CPIyear1] * 100



   Inflation rate = [(GDP deflatoryear2 - GDP deflatoryear1) ÷ GDP deflatoryear1] * 100

∙ Hyperinflation


∙ Deflation


∙ Disinflation (example—Volcker, the Fed and the early 1980s)

John Maynard Keynes


∙ His theories regarding the business cycle and fiscal policy
Labor markets


∙ Labor demanded (LD)


∙ Labor supplied (LS)


∙ real wage rate


∙ efficiency wages v. minimum wages

Okun’s Law


For every 1% ↑ in PGDP, there is a subsequent 0.5% ↓ in the unemployment rate.
Stagflation and other historical events that are analyzed using macroeconomics

Transfer payments (e.g. Social Security payments)

Unemployment & Employment


∙ Full employment / Natural rate of unemployment / NAIRU ≈ 5.0%

∙ Types of workers: employed, unemployed, discouraged, institutionalized, labor force, working age population

∙ Types of unemployment: frictional, structural, cyclical, and seasonal


∙ Jobless recovery


∙ Unemployment rate, labor force, and labor force participation rate



° Unemployment rate = (#unemployed ÷ labor force) * 100



° Labor Force = #employed + #unemployed



° Labor Force Participation Rate = (labor force ÷ working age pop.)* 100


